TURRN LS CRTAT J BYRITINY (RSN WSSV SPGR |
T 1

ORJIECTIF

(B) Poppells Aun Lo clisbubuti vild simpl .

”D&veﬂap_pgg : @nodu.ulk (x) —>  _somme (+) /oﬁ%ﬂemca =) .
NN

ot b) = ka+ i Rla-b)=Ra-KDb
Exeam . 9;_ ( ) [& Q.St‘_ 3
VQ—% = Z_Z—%D;.t‘élrx% = (Z.D;_r_%(?_x. — ?_;t)?)ﬁa—
= 26+ Q"L“é" = bz -G:x_%
Fackonusation . | §0kednts &'n

produt !
DéGmibion : Fadcomm, ¢ ext mmetliie ume Wonmga&em.

(j’ xs(x L DY) REETPBYAES CHEN
@"( 4 4 :r_) C (= + 4—5)) = (c+4BEW(c+4%)

Bo+ ®s-Grs)| | @o-@b -k (a-b)

Az%@‘_l@f7@ ?::‘Lksc~/+%-\~$; Cla 34,743
A= ’x_([—v_.‘)__-(- 7—) B:@gc_ —@\8_4-@%2 C:@k -5-@(3,“ 4—@;({1_

A= 9 B= ér(x-\é,+9.3 C=5(J'+3au+4.3

D= 4 - @< + 3F) =[x b2l | B2 [Ag L1

D=k (b-5x+3) s @20 -5xx] F: 3@ - A<
D= k(F-5x) Eracia leD-Bhe) | [FE «i(2>~4.\

Ex o (=4x +23) e D b

M




( Qen { Qoum,

| |
D) | F N AN Noston | enda '
NGB p \T
b= o(ex2) - 6= D) -G =
)( 'l'“-\. = (- ) A

© -

= )

®)

\>

= Y (e
ZaiHl SR i S
3 a1 %f‘: _ —
“ e
- 2) L) = (' L—-— =] +
HEP o




